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Chapter 4 Practice Quiz (2022 )
#1-6 ARE 3 POINTS EACH
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Find the slope of each line. | [V]=
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Write the slope-intercept form of the equation of each line. State the slope and -yintercept

using the correct variable notation. S/I = \é:; m X+
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#7-13 ARE 6 POINTS EACH

Graph: USE INTERCEPT METHOD:
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* Label the x and y intercepts with their ordered pairs.



" Graph: USE SLOPE-INTERCEPT METHOD: (1) State the slope and -yintercept using the
correct variable notation. (2) Clearly mark 3 points.
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UPDATED 2022: Graph the line with the domain X<=5 Then give the range.
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UPDATED 2022: Graph the line with the domain -4<=X<=2 Then give the range.

16)y=—%x—5 S &y é& 2 17) y=%x+2 Dz ~4Lx& L
Ay Ay
4 X _:!_ + /) p s \l
. "'L{ —3 /z - "4
B 7 S PR 3 ;x O - '5 2 —;/{1 4 >x o Q
— —t - —_—
b -L /11 3|8
ﬂ’\\ § ;2‘ / 1
B’ e 7




e

BONUS (4pts) Graph using any method.XLShow your wgr@
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